1.)  Describe what it means to be non-conjugated, conjugated, and cumulated.  Draw an example of each.
2.)  True/False:  Conjugated systems are more stable than non-conjugated systems.  What is used to measure this?  What is the trend?
3.) Why are conjugated systems so stable?

4.) Eight atomic orbitals would overlap to form                                  molecular orbitals.

5.) Lower energy molecular orbitals are called                                          orbitals and they are formed through                                                           overlap.

6.) Higher energy molecular orbitals are called                                          orbitals and they are formed through                                                            overlap.

7.) The simplest conjugated molecule is                                          .  It 
          has                        unhybridized p orbitals and                          molecular
          orbitals.  Its lowest energy orbital has              nodes and its highest energy 
          orbital has                nodes.

8.)  The reaction of a conjugated diene with HX is classified 
as                                                               .  This reaction goes through
          a/an                                   intermediate.

9.)   Conjugated dienes react with HX and produce two products.  Describe the difference between the 1,2 and 1,4 addition products.  Describe the difference between the kinetic and thermodynamic products.

10.) If I wanted to control the ratio of kinetic product and thermodynamic product what parameter could I manipulate? 
11.) Determine the products of the following reactions.  Show the mechanism that accounts for the formation of the products you have drawn.  Label the products as 1,2 or 1,4 and thermodynamic or kinetic.  Give a brief explanation for your labels.
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